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). £ZWME (24%)
(A)SQL
(B) Router
(C) Secure Sockets Layer (SSL)
(D) VoIP
(E) Wi-Fi
(F) CULV platform
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. T PIATAE S EAE WWW s34 & 2 (A) HTTP(Hyper Text
Transfer Protocol) (B) SMTP(Simple Mail Transfer Protocol) (C) FTP(File
Transfer Protocol) (D) PPP(Point to Point Protocol)
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ATH R e e LA CHE AR F (A)RESE &) £ By 3 & (Boot Sector) (B)#Esk #)
# % ¥ # (File Allocation Table) (C)RL # 45 i 324 # (Random Access
Memory) (D)4 # 321 # (Read-Only Memory) *

6. AMAMREEBOML FHMAARER? AMEDAN T AL
R PP #¥ (Real Time ) % 4 (B)# % (Time Sharing) % #5 % i 4 (On Line )
£ (0% X (Multi-Processing) % #.2& % AERA (D)ik sf /52 2
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7. Linux & B4 K A% 2 (AFRAL BIhEA% B)FRAL
PLhRAR ORRAL S1h¥rs D)SRA% STHER%-

. R Y B4 4 E AR BIOS MA T SRR — MM A 2 (A)
EPROM (B) EEPROM (C) Flash ROM (D) SRAM -

. AARREARERAEOHRR B BEATIEH £ &% 7 (A)NTFS
( New Technology File System) (B) FAT File Allocation Table ) (C) HPES
(High Performance File System ) (D) FSAT( File System Allocation Table )+
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(A)H#(ring)# 35 (B)H A4k (bus)#B35 (C)Bi ik (tree) M35 (D)2 MK (star) 48l
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(LID). 3% 4 3 F 70 80 (a) (43969.75) A+ X i fr &k + (D) i F
(10101.0101); AN 42 £ 7 * (6%)

(IV).3R% # F(X,Y,2)=XY+YZ+XYZ # K i & ° (8%)
(V). I 8% R RO T A 2 RE B0 5 AR  (8%)

(VD) 4R34 CPU i B4R # 10 B2 2 S BB R AR 54 —MEXLTH
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(VID). 9142 X$AT8 R 177 (5%)
FOR K=0TO 10
READ SCORE(K)
NEXT K
PRINT SCORE(5)+SCORE(2)
DATA 9,4,5,6,7,2,5,8,6,5,8,8

(VII). 47738 #4332 % 407 K¢ 4% 2 (database model)? 3 /) €3 % # database
model ° (10%)
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